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Zadatak 53. Parabola y2 = 3x dijeli kružnicu x2 + y2 = 4 na dva luka. U kojem su omjeru
duljine tih lukova?

Rješenje.

P . . . y2 = 3x

k . . . x2 + y2 = 4

P ∩ k . . . x2 + 3x = 4

x2 + 3x − 4 = 0

x1,2 =
−3 ±√

9 + 16
2

=
−3 ± 5

2
x1 = −4 (nije rješenje)

x0 = 1

y2 = 3 · 1 =⇒ y = ±√
3 =⇒ T(1,±√

3)

d(O, T1) =
√

12 +
√

3
2

= 2

d(A, T1) =
√

(2 − 1)2 + (0 −
√

3)2 = 2

�OAB1 jednakokračan =⇒ <)AOT1 = 60◦

�
T1T2 . . . l1 =

2rπ · 2<)AOT1

360◦
=

4π · 2 · 60◦

360◦
=

4π
3

l2 = o − l1 = 2rπ − 4π
3

=
8π
3

l2
l1

= 2
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